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2. WA A={x|2<x<2}, £6B={x[x’-2x-3>0}, WAUB= ( )

A (=0, -1)U(3,40)  B. (-1,2] ¢ [-2-1)  D. (-,2]U(3,+x)
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AT B. 6 C. 5 D. 4

4. WeEI={12345), £44={235}, £6B={12}, N((B)n4=C

A {2} B. {3,5}  C. {1345} D. {345}
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A C,M =N B. C,N=M
c. (M) (C,N)=2  D. (C,M)U(C,N)=U

6. BEL A={(x,y)|y=x+10<x<1}, £4 B={(x,y)|y=2x,0<x<10}, M%EL ANB=
C D
A {12} B {x|0<x<l} c {(12)} D @

7. BaABU=R, £6A={x|x(x=5)20},B={x|y=3-x}, M(C,A)NB%T ( )
A. (0,3)  B. (0,5) C. & D. (0,3]

8. BaEA A={x|1<x<3}, B={x|x"-3x>0} WwEHTREZHI»ETHESLSH ( )

A [0,1) B (03] ¢ (L,3) D [L3]
WRABZBREEALSKEE, ETEER, B/, AHTH 16:00--—--17:00 REHHE LATRKX,
—RBOT, TR I —— 2!

1

B www.jidiedu.com | B R H1E: 55051096 61320897
HERET: LETRIX AAS k% C # 9 )2 (BUBk 177 5
TSP SER T C BT 2 GEIEILEK 375 9



